= 5. g2 § I
> . |8 582|588 T
= + | £ & |87 % 2
<< £ = e o T | =
] Qo ©
= .| 2. |%§ ¢ .
Dos 3w | &aS | 2 =
@ss 225 28} & =
S =0 [Z¥F =2 | g | N
O5: (6T g=x | 2| Q = 3
>= (g2 |58 | 8 w5 5
[ © O o N < s N c w
»nos 2% | = | 2 e |3 =
Wwes 595 IER | 3 % 5 g
o .© c PO k)
=8 £zd g2 8 B
- > w W 2| 2o = I 1) =
<< 282|282 | 5| o 2 ©
o CSZ|E°S | 2| © g z
3 EES|2 5| B o || £ ¢
n S s 5§ | m| X Z = | =8
m 2 £ s | M =] B | §=
o g 13 s 2 |8 g | o=
S =l a |z = | g2
g El E N
< g | 2
2
(@] >
=z 2 5 S
= 3 £ - 2|12 =® S
5 gl 2|8 |88 & 3
S s s |8 | 28 |8 ¢ 3
= g 3 Z s |5 < S
Bz 5 8jF 9 ¢
N
-E6094 - 006 FELI94 F 00 82194 - 00}
e o | o e
» k 6991 | 628
h , L0911
S L o £
fozgsr | 69 (96 T et [0965h 1 pe
P09 Lopoos b 05 » ooy | 80HT 681 ‘ oo L8v00 | %87
Frgogr 000 F %6 g0 L0k fovog o GBF 000 oo L0 L 9y
22091 -y 9Lo RAT Ly £L0 Fecoor (8109 F ory
e 810 2609) i 4] 66091 L5y
-Ge 094 -l £20 8809 Lgg) 26 120 -1 09 - Lk
15091 L G 80 U ooy [V 8L 90 U L1709t - 75
WOsk | g0 [ 95 120 wogl | as 90 1509} 6%
Ep09L [EL09L F 89 mﬁ 1 op'09) [8109F 99 mﬁ H 6094 [€C09F = €9
< o | 5 . e
9700, 181091 1 000 80 H F6r09s 09 1 000 120 F2s09) LESO L oeor
61091 - 1E0- cz09) [ GE0- IS BED-
81090 - 980- o oL . 509 | 57
e g : 02094 + 22 ﬂ K s
» oy | 057 » * A » oo LGOI L per-
Lip09s LLKO9F L gk 520 L Lo09k F6L09) £ 8- 620 L LIp09L FCCO9 E (%
109l FLE09E T 535 )] m ool | e 50 17001 | CC09 T 75
-GE09) - 840 8809t 107094 | /6% 610 1709 - Jeg-
| 7t A 000 00094 p9'c- ‘ | og L Il
62090 Loyng, £ Lh » : €10 oe09k | »
Foz 09 [8H09F £ e 0z 09 b IS 0y L0 L L L
I I D ¢ 0 D -
2[00 | e, [ TOL S| regess |- 2 < K ol
= relect [ 8 ~ L85k 0 = Lk L 8Ly
= £6%- by » , = 166 [ 6Ly
N = 8109 F S0 > 069-
S| 65094 - 082 S =
=S o5 o=
3 69190 - L0%- = 9690 - L6 — 9779 826
S S S
S S S
i 10 L e ez
Q) Q| Q)
[72] [72] [72]
S S S
a_ a_ (S
8894 004 FIL79L 00 6679 00
S S3 8 5 os S3 8 5 os S 3 8 5
=8 €2 & 3 S8SS S | I & 88 S F W
S S Qo S S S o S S S o S
D0 O 1 L Ly = [Sr =1 " L L ] oS o 1] L Ly =
Ll 2 ol 5 8 2 £ o 288 ES | 2| AR
- T g e o E Ve SR
= © x| | O = © x| x| O = © x| x| O
Z Q. o a o Q. o
Enh 0885 - 00 6665, - 00 -98%65 - 00 pr09L 006
R -26%65) - 29
Z o 1V'65) - L€}
X o
o X
/
(@ I
|
N 128000 L 629
o - = » K 6,090 [ 4i8
~ b6k L 089 0L 8 659
— w59 e 2 ol a0
> < 08 A e e Logcs | 087
» K 60651 K e, 0068 87
— » . 066G [ 8EY ves N » gey 00 7805k LageL £ I3
(@) 00 ~6969) | e £ EL 000 90691 88561 £ 414 0 18866t |-zoeg) [ 07 Al Lreo -
A 9.0 70109} EoLLE 920 6109} ek 280N 92,09} -l 0 TLC09t Legipgy | 504
R 620 2009} - LE 620 84091 g% 7£0 62094 - L6t 820 €09} - %g
<l LEL09) | gy60) b 60C 70 L$2 091 L e I£0 | GE09) L 29¢ £60 8609 L 45
N’ D €60 U_ €109} s re0 P09 | oo | g %0 S0 Lopggy | 358 £60 8609} 60
Nﬁ . 6109 Legipgy £ 09 mﬁ . 9709 [e6ecL - 054 § 1 L6090 009k Qg mﬁ -0r09) [L009) F 85
LL] S » 18 S 6L [ 66 & 8l & oo - 05
k L oD » k h 90't k oo Laoos | oot » K : 780
620 H 84094 69654 - 000 620 H 62094 0009k - 000 160 H 0p09) Q03 | 000 06 er'094 FEFO9 1 000
N C665L [~ 670 009k = g0- F0L09k 1 26D PLO9L [ UE(-
< » 2 < 0009t [ 0/¢- < 60094 I 990 < £6')-
R & 8865 [~ g5 & 4 & Lo | e - KE
820 Ll oo Lpgisgy = 358 620 L LhZ9r FoB8S) 755 % U Lseoor Heoogs = S 820 L0c 09 FOL09k £ 755-
(a 820 €109 Qe 620 70090 665l gj - 60 GE.09) i 820 8609t | [ 1
020 009 | o E e A L9100 - e A 62,09/ -7 A 2e09) [OF09F = e
940 r009) 2865k £ e 610 CLOL | F T @ 92090 L9009k E g5 110 L1209 | oo b 2GS
000 8865 109'65) [ 5% 000 96654 196694 F G5 000 K009% 7009} £ 6o 940 5200 THLO9 = O
» r 996Gt [ 200 ; 4 . LG8 Tr66ek g%
L1965 | ge'p oceer | Br WYy A 00 18661 L£7
=] F8¢65) [ 90'c- = 96" = 29650 [ 0i%- > Loy - oLi
~ oo L 86 ~ 066 ~ 96 ~ 6y
| 1009 F 969 Mo/ i mmmmw i Wm MO/ 09 P69 020 ol
S| S N L LE S e oo
& S < < 60 - I6%-
S S S S
< (= (=) <]
i b i ¥
=< = =< ==
(=1 o Q) Q)
3 3 3 3
a a a a
82094 00%G- 109 00 FPLI9) 00 869} F00%)-
= S3 8 5 _s S3 8 5 _os 213 8 5 os 213 8 5
S8 S g B8 88 S g &8 S8 S g &8 88 S g E g
AO..., w " Ly L w w., w 1 L L w w; w " Ly L w m, w 1 Ly Ly w
2 o 5 &3 ET vl 5 &8 ET o 5 &3 ET 2l & 8| 3
T S g g T g g T g g T o | By
~ © x| x| O = © x| x| O = © x| x| O = © x| x| O
Q. o a o a o a o
F8'6) 006 €864 006 -80'95) - 006 2961 00
P86 - 6rF
06454 | 008
06760 £ 6/
6.8 06/ H:HmmN L NQN ) h ) )
06451 [ 989 6e'95L - 999 -eL8L oL
FP986L 05 9 || s
5y 00Q 60651 ep'ge £ ELY e et mww
0 10554 il 00, 80661 - e EIEGELT e 0% PSS Layor F 766
220 -2r66) -k 940 0965 Foregl - pUE 920 09661 [¥965k £ L€ 120" L2651 (G986} £ /€
£10 TSreSL Leegy £ Lo 940 €966 FoJef 120 €865, 9569} F 616 0£0 9666, -99%65) F JE%
0k 16651 L 55 000 | 6965/ L 297 IED | 6365 L L6E £60 20709} L2
040 i 6 660 6965 g0 £ 067 060 686/ 29¢ £60 2009} 09¢
S » N S the S AR 009 ey bS5
) gl S AR oo | g
» oL : » o CLSTSL gr0 » Lo \ » Y »
500 | F95'66) FAgBSr - 000 510 ~pL6S) (GGG - 000 570 e oIS - 00 820 H -0 G088t L 100
rsel | L 19 oop S E s S5 sn
- EEG'66) E 060" - &7 o FLLBGE £ 990 o 1866} %b.
] e | B ] Leg'eg) [ BEC | k| e & o) A
709 Lsseor | L 70 pL0 | 6966+ | oo'gey L 09 920 168691 Lpoigey L 0S¢ 820 L L2009 [¢568) £ 05¢
700 Flogel el F oSG i Fuges <089 = o %0 Fegecs | 005 F 707 80 Fa00ol | ELO8 F goz-
200 | G766/ L e 600 L£9%6CL -pG6G) = LCE: 120 €861 L Ee 020 L9666/ iy
100 L7b661 i 600 £09'661 iy 610 09661 g 90 26660 [0 E LLE
000 096k | o, | BLE 000 0566 | | LE 000 19651 Logag, [ 904 000 116} [gyipe; [ 00F
SRS gl e - G a6 [ O e - U8
= o 8| 05 | FOLBS - BLG g 0%
= » K = 6886 - 9’0 = 685 e = _ »
= 2850 €89 ‘ _ » K 69’65, - #89
~ N 2286 9L ~ LILesh L b I -E9'66) - GE-
= S S 96961 [ 97 S
S ‘ i <+ Yol N~
& hLISL Ghe >y { N|
I | ~— M~ o
S = = S
S FLLGL 986 S = S
T S el S S Ll
" 1 r86°86) - 204L- 1 1 FEL6S) 904
=< = = =
(=3 (=3 QY (=Y
3 3 3 3
a a a a
-92'86) 00 61864 005 -GE68) 00 48654 00k
S S 38 s o= S 3 8 s o= 53 B s o= 23 B 5
SS S x| w| S| 8 S| x| w| B S S x| w| S| 88 S| x| WS
S S D S Bl B o S DI L el I o S P D S Bl B e S B T = o
SR 1 Ly (NN = ~ o 1 Ly (SN} = N S n Ly L = DS 1" L Ly =
g a5 &3 2T a5 &8 83 ET a5 & 83 ET - AR
~ S T S T S T
T TR ve o g ve T g ve SRS =
= © x| x| O = © x| x| O = @ x| x| O = © x| | O
Q. o» Q. w» [a NN 5} Q. w»




